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~Jand F(r) tvT - Lk, find F'(2).

Fondomuiia | thaovem
By F.T. C. < un (;Ecaludus

Given that @

a) r41 y
I FX)=X \l%ﬂ
T
. 2
c) v F1 1/2 N 1
d) L% T+ ]
e) €T

Question 4

Given that £ > —7 and F'(.r) / t\t+ Tdr, find F'(4).

o B FTC
a F/OO: X\lx—(-I]

b) v 11 (
d) 11
e) 4
Z2of b 04/13/2015 10.01 AM



Print Test

https:/fassessment casa uh edu/Assessment/Print

Question 3

Given that F(r) — /

a)

b)

c)

d)

e)

3ofG

! 1 ,
S dl", fnd F'(—5).
o =+ 25 r )

By F&T\C‘

&)~

-
=
]

c gl-
i
@\
N

\!
ZLTP\ .
Ugi)
g1~

[N}
U‘l ot
o

04/13/2015 10:01 AM

Print Test https://assessment casa uh edu/Assessment/Print

Question 6
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Question 8
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Find a formula for f{.) given that f is continuous and

R / ' fyde. Ds dartumtive. sy ot sidis

a)

b)

c)

&)

e)

Foo= {47 oy

fle)
flr)
fix)
ftr)

flr) =

3
We have —4x+2x-3 = fﬁl}

400223
1527+ /32" — 87227
A R

s
ettt =22

152" —1/32% —3/22% 3

(x CoS(I)>/

= ( CoS()— X Sﬂn@c)> m

04/13/2015 10:01 AM

Gonf G

04/13/2015 10:01 AM






